MONTGOMERY

2X4 Di
Iam
Inst : ond M
allation Instrl:a;tril Cube Stora
ons ge Unit

/

(AW
""v
Y
&:of?3ﬂ&&%wovp
) OO
oroooooooqooooo»
I RARYXEM
AN NN
) AN
A ALY
00000409009000‘
oooooqooqoooooooy
ffifl????????f??»
uQOOOOOQQQQOOOQQt

X0
(XRv
(KXY
RN
N”

A
AR

(Y]

)

NYXXN
.’A‘A’A’A‘A‘”"A’A‘A’A‘A f




m 2X4 Diamond Mesh Cube Storage Unit

Installation Instructions
MONTGOMERY

Elements Supplied

Part A - Locking Shelf

J

DN

Part D - Shelf Divider

Part B - Standard Shelf

Part C-1- Upright
Frame Left

Part C-2 - Upright
Frame Right

(S

Part A - Locking Shelf

1

Hardware Supplied

M5 Nut Hex Key

x50 x50 x1

2
(7
g
o
g g

X
B

Wall Plug Safety Floor

Strap Protectors
[% O

x4 x1




2X4 Diamond Mesh Cube Storage Unit

Installation Instructions
MONTGOMERY

Lay the parts out on a flat surface. Carpet is best or make sure some protective cover is used
over hard surfaces like concrete. Read all instructions before commencing assembly.

Lay the PART C-1Upright LEFT on its side and fit \
1 x PART A Locking Shelf in place by finger

tightening 4 x M5 Nuts & Bolts (1 nut & bolt on the
top edge, 3 on the side).
NOTE: The extra holes should be on the floor side.

S

Fix the second PART A Locking Shelf in place on the C-1 Upright Frame LEFT by
finger tightening 4 x M5 Nuts & Bolts.

Fix the C-2 Upright RIGHT onto the Top and
Bottom Locking Shelves with 8 x M5 Nuts &
Bolts and finger tighten.

Fit the 3 x Standard Shelves in place
with 4 x M5 Nut & Bolt per shelf.
NOTE: Take care when installing the
shelves to avoid scratching or scraping
the finish.




2X4 Diamond Mesh Cube Storage Unit

Installation Instructions
MONTGOMERY

Fit the 4x PART D SHELF DIVIDERS in between the shelves. The holes in the Divider and

middle of the shelves should line up.

e 6.1 Start at the bottom shelf - add a Divider between the Bottom Shelf and Shelf 1 and fix
2 X M5 Nuts & Bolts into the bottom edge of the Divider and the Bottom Shelf. DO NOT FIX
the Top edge of the Divider just yet.

e 6.2 Add a Divider between Shelf 1 and Shelf 2. Fix the bottom edge of this Divider so that
2 X M5 Nuts & Bolts also fix the TOP edge of the Divider below.

* 6.3 Repeat Step 6.2 for the Divider between Shelf 2 and Shelf 3.

* 6.4 Add the final Divider between Shelf 3 and the Top Shelf. Fix the bottom edge of this
Divider so that 2 x M5 Nuts & Bolts also fix the TOP edge of the Divider below.

Fix final 2 x M5 Nuts & Bolts through the TOP shelf and finger tighten.

NOTE: Take care when installing the dividers to avoid scratching or scraping the finish.

d

\
/
/




2X4 Diamond Mesh Cube Storage Unit

Installation Instructions
MONTGOMERY

Fix the 4 x Adhesive Floor protecting feet to the BOTTOM of the 2 UPRIGHT FRAMES

Gently stand-up the assembled unit and fix remaining M5 Nuts
& Bolts to the Top & Bottom Locking Shelves. The remaining
holes were not accessible when unit was lying on the floor.

IMPORTANT: Also at this stage fix The Safety Strap with one
of the remaining M5 Nuts & Bolts. Safety Strap must be fixed
to the TOP Locking Shelf where it is joined to the upright frame,
either left or right side depending on how you want to locate the
assembled unit. See Step 10.

It is now time to systematically go over the whole unit and tighten all of the M5 Nuts & Bolts
to full tightness.

IMPORTANT: This product is supplied with 4 x 50mm Screws and Wall Plugs not suitable
for Plasterboard or Dry wall. If fixing into these please purchase separate Plasterboard
Anchors. You have the option of using the 50mm Screw and Plug to fix

to a wall or use one of these 50mm screws and plug to fix the Safety Strap to the Wall.

NOTE: The Safety Strap must be fitted at the stop of the unit and fastened to a solid wall.

DISTRIBUTED BY:
ZENEXUS (AUS) PH: 1300 734 714
ZENEXUS (NZ) PH: 0800 443 058




